1ISO 6020/2

www.hydromat.hr SERIES A3 HYDRAULICS CYLINDERS

Rectangular rear
flange

(Not according ISO standard)

Type 02
ZB2 + STROKE
ZJ + STROKE S—+— uo
—A Y PJ + STROKE TO
VD= 1

!
-]
[
|
I
|
I
|
I
|
I
|
e
I
|
i
I
Loy
T
I I
] ]
I ‘ I

e E— N

MM - Rod diameter

Bore|MM| | A | B |cH|xx| E | |F|m| K | P |R| s |To|uo|vD|wr v |zB2|2s

o | o | |mex| fo (BSP) i3 | (vetric) |£125[us13| mex |us13|mex|  [£2] 22 |mex |21

25 [ 12111412419 | 514005 14 | 10| 55 MOXL2S| 54 | 57| 10 | 51 | 64| 6 | 15| 50 | 124 [114
18| [18] 30| 14 M14x1 5
14| [16 ] 26| 11 M12x1.25 12

32 18| |18 30| 14| 5 | 45+15| 1/4" | 10| 66 | Miax15| 57 | 33| 10 | 58 | 70| 6 |25/ 60 | 138|128
2| 2234 | 17 M16x15 12
18] [ 18] 30| 14 M14x1 5 6

40 [ 22| [22] 34 17| - | 60415| 3/8" | 10| 11 [M16x15| 74 | 41| 12 | 87 [110[ 12|25/ 62 | 165|153
28 | [ 28] 42| 22 M20x1 5 10
2 | [22]34 ] 17 M16x1,5 7

50 |28 | |28 42| 22| - | 75+15| 12" | 15135 Meoxi5 | 76 | 52| 15 | 105|130 7 | 26| 68 | 174 [159
36 | [ 36| 50 | 30 M272 10
28 | [ 28| 42| 22 M20x1 5 7

63 | 36| | 36|50 30| - | 90«15 12" | 15135 Me7x2 | 80 | 65| 18 | 117|140 10|33 | 71 | 186|168
45 | |45 | 60 36 MB3X2 14
36 | [ 36| 50 | 30 M272 5

80 | 45| | 45| 60| 36| - 114215 34" | 20 [175] MB3x2 | 93 | 83 | 20 |149/180[ 9 |31 |77 |210 190
56 | [ 56 | 72 | 50 MA2x2 9
45 | |45 | 60| 36 MB3X2 7

100 56 | [56 | 72 | 50 | - |126+2| 314" | 22 [175] Mazxe | 101 | 97 | 25 | 162|190 7 |35/ 82 | 228 |203
70 | [63 | 88 | 60 MABX2 10
56 | [ 56| 72 | 50 MA22 6

125 70 | |63 [ 88 | 60| - |164:2| 1" | 22| 22 | wmasxe | 117 | 126| 25* | 208|240 10| 35| 86 | 257 |232
90 | [ 85 [108] 75 MB43 10
70 | [ 63| 88 | 60 V48X

160 | 90 | | 85 [108] 80 | - |198:2| 1" | 25| 26 | Meax3 | 130 | 155 27** | 253 |300| 7 |32 86 | 272|245
110| [ 95 |133[100 MBOX3
90 | [ 85 108 80 MB43

200 [110| [ 95 [133[100| - |240+2|1"1/4| 25| 33 | MBOx3 | 165 | 190 | 27** | 300 [350| 7 | 32| 98 | 326 |299
140 [112]163[130 M100x3

Unless otherw ise specified, all dimensions are given in millimetres.

10 Copyright © Hydromat inZzenjering d.o.o. ISO 6020/2 - 02/2006-HR


http://www.hydromat.hr

¥H-900¢/.0 - ¢/0209 OSI

"0°0"p Buusluazul yewoipAH @ yybuAdon

SR www.hydromat.hr 1ISO 6020/2 HYDROMAT Series A3 160 bar

How to order a HYDROMAT A3 series cylinder compliant with 1ISO 6020/2 G titing e model - oor Provide the following information:

The HYDROMAT A3 series cylinders compliant with ISO 6020/2 standards are provided with an identification code which describes the construction specifications in a ° quantity ) ) ) )
non-ambiguous way. To make up the code for the order, follow the code diagram set out below and insert the letters identifying the various features of the desired * special features (if requested) with any enclosed sketches and/or construction drawings
cylinder in the sequence given below. . gplt?ratlng(]j condl_tlr(])ns for ?pe_CIé_ﬂ uses
Cylinder ordering code + delivery date with type of priority
Features Description Code @ @ 0000 @ @ / D D D D D D D D Code | Description Features
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15
. To ISO 6020/2 standards ) ) ; A3 J L — 15| koo Specify the position of the front and rear Position of
Series To ISO 6020/2 standards with magnetic sensor” [ M3 | 1 inductive sensors inductive sensors
To I1SO 6020/2 stand. for taking lin. transducers” [ T3 o
. . . _ 0 Specify the position of the front and rear air Position of air
Bore Specify bore in mm (indicate 3 figures) 2 w — 14| S00 bleeds bleeds
1‘21 mm Egglr: gg; Q X Rroo | Specify the position of the front and rear braking Position of braking
18 mm (bore 25, 32 and 40) D o 18 adjustment devices adjustment devices
3 0 g
Rod gg m Eggi ig gg gggi%%)) }'-:l — ___ 42| P00 | Specify the position of front and rear connections clz::::(t;:t?o?]fs
MM 36 mm (bore 50, 63 and 80) L |3 - -
(diameter) 45 mm (bore 63, 80 and 100) ] 0__ 1 . |Specify the fnumber of spacers Spacers
56 mm (bore 80, 100 and 125) P c (multiples of 50 mm)
70 mm (bore 100, 125 andi 160) R T | seals f " d alveol mixt
90 mm (bore 125, 160 and 200) T ) 0 Lea ? .°tf water Ia“ glycol mixtures
110 mm (bore 160 and 200) v = T0f b | o metion seas " ve fluid Seals
140 mm (bore 200) z - Vv eals for high temperatures and/or aggressive fluids
Stroke Specify the stroke in mm (indicate 4 figures) - 4 o gz: Eront _incciiuctt.ive sensor nd
: — -— ear inductive sensor nductive sensors
Without cushioning Cc = F® | Front and rear inductive sensor
|F;ront cuslr_|on_|ng E E
ear cushioning G A | Front air bleed
Rod type Cushioning on both ends P |5——"— —— 0_ 8| B_|Rearair bleed Air bleed
Double rod without cushioning S C” | Front and rear air bleeds
Double rod with cushioning T
Liah o thread Example of cylinder code: 3) Minimum working pressure: 20 bar
: ight male threa X Omit identification code 4) Max. working temp. for M3, T3 and A3 series cylinders fitted with inductive sensors: 70 °C
S_p_eCIaI Female thread w if standard A3063H0125E02 5 Using inductive sensors, the cylinder must be provided with cushioning (front or rear)
machining of rod Light female thread y 6 ) Not available for bores 25 and 32, see page 42
end Customised thread z A3 = series differential Cylinder 6) Compulsory for T3 series cylinders
Basic version (not in line to ISO 6020/2) 00 compliant with ISO 6020/2
Rectangular front flange (not in line to 1ISO 6020/2) | 01 063 =bore 63 )
Rectangular rear flange (not in line to 1ISO 6020/2) | 02 H=rod 28 Example of cylinder code:
Side foot (ISO '(Yls%)mm 03 125 = stroke 125 A3100M0400PW10/FUP14K22
Head trunnion 04 - [oRe
Cap trunnion (ISO MT2) 05 E = front cushioning o . . . .
iate i g 02 =rectangularrear flange A3 = series differential Cylinder compliant with
Intermediate fixed trunnion (ISO MT4) 06 ) X
i (not compliantwith ISO standards). 1SO 6020/2 standards
Rear clevis (ISO MP3) 07
Mounting type Rear spherical bearing (ISO MP5) 08 100 =bore .1 OQ, M=rod45, 0400 =stroke 400,
Cap fixed clevis (IS MP1) 09 (7 The positions of the inlet connections P =cushioning on both ends,
Extended front tie rods (ISO MX3) 10 and front cushion are standard so W =female thread rod ends
Extended rear tie rods (ISO MX2) " they are not specified in the order 10 = extended front tie rods (ISO Mx3)
E{Xteé\?led on ?gg '\7?53 tie rods (ISO MX1) 1% code (oil feeding inlets side 1 on head F =frontand rearinductive sensor, U =low friction seals
sz ﬂaﬁgge(l(so MES) ) 14 and cap - cushion side 3 on head P = position of incoming connections side 1 on the head
Front screwed tapped holes (ISO MX5) 30 and_s_|de 4 on the cap .
Rear screwed tapped holes (ISO MX6) 31 K = position of inductive sensor side 2 on head and 2 on cap

" Not available for bores 160 and 200, see page 40
® Not available for bores 25, 32, 40 (rods 18 and 22), 50 (rod 22), see page 43

- standard cushion position side 3 on head and cap (see
Table 19 on page 64).




	Page 10

